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Question 10 X [n]

A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language
No. of Questions: 10

Passage Questions (1-5):

Read the passage and answer the questions that follow:
"How do you like the milk?" the grandfather asked her.

"| never tasted better," answered Heidi.

"Then you shall have more," and with that the grandfather filled the little bowl again. The little girl
ate and drank with the greatest enjoyment. After she was through, both went out into the goat-
shed. Here the old man busied himself, and Heidi watched him attentively while he was sweeping
and putting down fresh straw for the goats to sleep on. Then he went to the little shop alongside
and fashioned a high-chair for Heidi, to the little girl's greatest amazement.

"What is this?" asked the grandfather.

"This is a chair for me. | am sure of it because it is so high. How quickly it was made!" said the
child, full of admiration and wonder.

1) What did the goats sleep on?

A) On a bed TeChOfWOrIdIn

B) In the farm
C) In the meadows
D) Fresh straw

2) Who fashioned a high chair for Heidi?

A) Heidi

B) The Grandfather
C) A carpenter

D) A worker

3) Where was the little shop?

A) Behind the goat shed
B) Near the house
C) Alongside the goat shed
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D) In the town

4) What did Heidi drink with greatest enjoyment?

A) Water

B) Juice

C) Milk

D) Coconut water

5) Why did Heidi like the chair?

A) It was colorful

B) It was very high

C) It was soft and fluffy
D) It was in the shed

6) Fill in the blank with the correct option:

After the dinner, Jacob
promising job.

veaed Techofworld.In
C) lead, lead
D) lead, led

his friend to the door and informed him that he had a ona

7) Which of the following alternatives explains the phrasal verb "Endow somebody with something"?

A) to give somebody such a particular quality, responsibility etc.
B) to owe some money from some body

C) to work under the patronage of a great person

D) to relief somebody from pain

8) Fill in the blank with correct prefix or suffix:

It took one month for his baggage to arrive by a ship

A) ful

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62270_8 BATCH3_D.ELEd.Odia_07NOV2020

B) full
C) able
D) ment

9) Which of the following words is correctly spelt?

A) indispensible

B) indispensable
C) indespensable
D) indespensible

10) The phrase "Dole out something" means

A) not giving money, food etc. to a group of people

B) to keep something out of your home Te C h OfWO rl d . I n

C) to bury a secret so deep that it can't be found anymore
D) to give money, food etc. to a group of people
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) What is the unit used in measuring the thickness of ozone layer present in the atmosphere?

A) Debye
B) Dobson
C) Decibel
D) Dalton

11) QIgnarea aage 6ee 80a arel AIIGQ IR 606 19T IR0 6RINAN ?

A) 66914 TeChOfWO rld i I n

B) ¢qaq
C) sedsan
D) @IReR

12) Which of the following statements is/are not true of the accession of Manipur to the Indian
government?

A) The Maharaja of Manipur, Bodhachandra Singh, signed the Instrument of Accession with the
Indian government on the assurance that the internal autonomy of Manipur would be
maintained.

B) Under the pressure of public opinion, the Maharaja held elections in Manipur in June 1948
C) The Government of India and the Maharaja signed a Merger Agreement in September 1949

D) In the Legislative Assembly of Manipur there was unanimous consent over the question of
merger of Manipur with India.

12) ARYC ABGER AUQ 6948 AJaa NAG AARIAT AITE 6AITAR AYIEA AGY 9L 2

A)  Qdgea ARSI, 6Q1RIeT J°2 NG AINISAIE JXRG! TQ QYRR FLACRIG! 629 VRS AARIAR°
AITQ Q°6AIG FENHER FLIVQ QSR |

B) ©fA6Q QIa6a ARIAINI @R € ¥ AdI6a AdYsR AR adden |

C) sasqna ey A32I6Q NQE AQRQ IE* AR TGS QIR AR *Q86R |

D) A8gae QURANER 1§YRR AQE A6 AFEq 6°R IRAE ARG gela AR |
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13) Theme-based approach and Spiralling are salient features of the -

A) CBSE Primary Curriculum
B) State Primary Curriculum
C) NIOS Basic Curriculum

D) ICSE Primary Curriculum

13) gaar-2IGe QAIGE] ¥e* 2RQE 6208 1RIa gl F689Q -
A) davga giade oI
B) Qie4 giafie aloige

C) vezieeeq 693AQ aoiga
D) 210@4q@ giafie aIoien

14) According to the Report of the Committee to Advise on Renovation of Higher Institution, which
institution has been regarded as the 'trustee of humanist tradition of the world'?

A) Colleges

B) Universities-reChOfWO rld B I n

C) Libraries
D) lITs & [IMs

14) afica G6aId 2QAIA1 Q93T QAR ARG AR AANE QAR 609 ALVRY ‘T AL AANAIQ 6§’ AVER TR
QAUAIRE ?

A) FRIGNILOFR
B) dadqueagse

C) A0I10gEQ
D) NAREG IR 6 AIRAINYER

15) The pedagogical structure for school education as per the NEP 2019 is

A) 10+2

B) 3+3+2
C) 5+3+3+4
D) 3+5+3+2
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15) QAT 90 ¢ zgaa Souea a1 69JR QAR 6208

A) €o+9

a1 €CHhOofworld.In

C) 8+M+a+¥
D) M+ 8-+a+9
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) A large cube is painted with black colour on all of it's faces. It is cut in to 216 smaller cubes of
equal size. How many smaller cubes have three faces painted?

A) 16
B) 10
C)8
D) 2

16) 9@ 9@ QAR AN AIYY FR AFTER AFC FAAICIMI | IRIQ AAIR RIAR 9 €9 6216 YPRER *TIN | G| VINYQI 6260I1F QR
d6qid aig ade 62ARNG ?

" Tachofworld.In

Cr
D) 9

17) In a certain code language, if the word GROUND is coded as FQNTMC, then how will the word
MEMBER be coded in that language?

A) LBLBDQ
B) LCLBDQ
C) LDLADQ
D) LELADQ

17) 4@ 7da caie aigica, 8@ GROUND ae FQNTMC siesa 6q1@, 62108, 606@ 622 aisica MEMBER ¢t @ 808 6ei@
Xl QQ 2

A) LBLBDQ
B) LCLBDQ
C) LDLADQ
D) LELADQ
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18) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.

3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the perimeter of the triangle ABC?

I. The triangle is isosceles.

Il. Semi-perimeter of the triangle is 20 cms.

2. Techofworld.In
C)3
D) 4

18) QANYC 999desa 636 @aq :
°. 9% 99Q4 | arAia ARQ c29Ig A6a] 26T |

a8 QA4 |1 ¥gdal analia QAN caqig Kcaa 26T |
0. 96 QG | ver || anag RI0 21D 6060 ANAIQ AAR 62! Al AdHIg 26T |

¥. 98 @9Qd | ver |l aeag Y0 G21de 6060 @ ANl ARA 629 als adug R6< |

ABC Geee adalq 6R6G ?
l. GQQ angeig zes |

Il. Geea asd-add 9o 6af. a6e |

A) ©
B) 9
C)™
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D) ¥

19) A direction signal pole was situated on the railway crossing. Due to an accident, the signal pole
turned in such a manner that the pointer which shows east, started showing south. Kumari, a

traveller, walked to the wrong directon thinking it to be west. In which direction was she actually
travelling?

A) East

B) West
C) North
D) South

19) cae o@ AIGEQR 9o 6 A6S6 60N 2ede 2T | 9@ Qdeal 629, 30 AT 6aIR ¥ad ALYEa AHEe 62RI 6Q I 6QE

AR89 9o QVEQ 6Q¢IAS! QA QA | QAN FIAQ 68 AIQ1, 6169 9@ 5‘&@ 249 6Q1A Q1T QR A96Q CIRNTER | 6Q GYEER 6L
Q06Q QI 28R ?

v Techofworld.In

C) aaa
D) @86

20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

The average scores of students in section A and section B of a class in a particular test are 60 and

75 respectively. If the class has only 2 sections, then what is the average score of the students of
the whole class?

I. The number of students in section A is 50% more than the number of students in section B.

I1.The number of students in both sections is betweeen 25 and 35.

A) 1
B) 2
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C)3
D) 4

20) YORYS 99998 530 @0q :
0. 9@ QQQ4l | anauie QAR sa9ig Asaa AAET' |

9. 9% QA4 |l vgdal anaie ARA saalg A6 2IET |

q. 98 FRAE | ver Il anag ¥eI0 F2IHe 6069 ANAIQ VAR 621 AT UG 266 |

¥. 98 Q€ | v || anag 10 H218e 6060 R anie AR el aIg adug g6 |

9@ 7aq adalea 6ga1a A daie 9o B 3018 60 2192101S 2QIIA 6]UQ Q2ARKEN o Ie° 98 6T | AF 644160 6299 9 & TR 2,
6069 QNG 6g€1Q BIGBIFIFA AR 6AUQ 6QE6Q ?

l. Gaua A 6 2192191 @yl da1a B @ 21991916 @4yl 26981 8o% 28R |

Il. 000 GRIGQ RIGRIGIT e 98 I NS AXYER 2T |

5> Techofworld.In

c)™
D) ¥

o
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) What stands true for insightful learning goal?

A) Learner seeks explanation on basis of stimulus response
B) Learner develops explanation on basis of theoretical information

C) Learner observes the entire situation and then establishes the connection between problem
and situation

D) Learner seeks assistance to develop solution

21) 26626 AaIRIAR AR A 606e AR AR 29?

A) d1eh QQIRQ ERA ISR IS 6SISS Te C h OfWO rI d 2 I n

B) amich 0QQ go%l 2N QUi §eia 008

C) da1elt ang afPeq 69¢3 I CIU6Q AAQAY IS ARPE AUER TPEAIT AR QOB
D) QArIfG Geia Qidl daIdh AIRIAY AILER @63

22) Which of the following can be categorised as a positive learning environment for a child inside a
school?

A) Calm physical surroundings and strict autocratic instructional process
B) Sound mental health of teachers, students and strict autocratic instruction processes
C)

Calm physical surroundings and sound mental health of teachers and students
D) Calm physical surroundings and bad mental health of teachers

22) 39R4e fRIQ 6268 9@ AL G06a RIS I 9@ ILANR AT ARERE ALER AR 6T ?

A) 918 SINIGR ARERY I QE0IQ ARSI FeaaRinl geal

B) J9Q Ie° 2IGAINSA AINAR AP NS FE0IQ ARG FeRaRIAl gl
C) ¢ie SI0I0e 96Rd Yo 4@ I 2RAIRSA AIRde QIY

D) 9I3 aI91ae 08694 I&* IFRAIREA $AIA AIRAR QI

23) Sometimes teachers appoint fellow students to help students who find it difficult to cope up
academically in school. These students who help others are called

A) assistants
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B) helpers
C) buddies
D) young teachers

23) 6Q6R696R 692 IGRIFINIAG ALIAY AIN 660X SIS A TIQIG IFRAEE FYS A3 6ANACE YAEQ AI0G
Qg4 @R 9198 QIF | AQYQ ALIAY RQIQ! K2 BIGVILIF QRIAN

A) aeIaenIee

B) QioiaiQIaiqiss

C) digaiee

D) ge daaqiea

24) What was the goal of the school set up by Danish Missionaries at Serampur near Calcutta during
pre-independence era?

A) Impart primary education T h fW I d I
B) Provide for training of teachers eC O O r B n

C) Provide for teaching in vernacular language
D) Impart secondary education

24) Q1 1901 98 ANG6Q KRR FRE 6ANNYRER 60RAIF AIRININIAS QIR TS FMNILAQ ABY @'a R ?

A) giafie 8 goie QA9
B) aseaiea° aid ol gaie 99!
C) giria auaisa daieie goie QAR
D) arifie a1 goie @I

25) Identify the method of education that is based on self-directed activity, hands-on learning and

collaborative play and where children make creative choices in their learning, and the teacher offers
age-appropriate activities to guide the process.

A) Basic education

B) Project method

C) Montessori method

D) Problem solving method
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25) aaie 69T aadq 6 g, esa@"egsa qor-Redde eidieeia, RYIE-2Q FYQ! v Fa8 cudQl Ra6a ZIAE 1e* 6AL0IER
JRAIER 6QAIRE J8QI AR IRAAINIQPR AAL *aE, e 4ae 1@ gRAIQ AIdedR @8l Al 90Q-2QJI6a RAYS AL gRIR
a3 |

A) 68ida aal
B) g@% &

C) 6q1696Q1Q aad
D) @Ayl aqRIe 988

26) Which of the following is a disadvantage of grouping a class in a homogeneous way?

A) It helps to develop individuality

B) Children begin co-operating with each other
C) Children help each other too much

D) Children have no push to excel

26) @ 6ga1q ANFIF IR FAE NIFEA YT FARIER Fgdige aug 6ad RTE 42

A) 921 @130 SQI96Q ARIAY Q6Q Te C h OfWO rI d e I n

B) 9RIAIee a0aq a6 A260IA @A 2IA @03
C) GaIfier 0a2eq 926 AR @03

D) dairiese agdel i 6316 agie Q6L QIE

27) The teacher wants all the students to equally participate in the Learning Process. Which of the
following methods would be most appropriate?

A) Teacher centered method like lecture method and demonstration method
B) Learner centered methods like cooperative learning and group activity

C) Learner centered methods like cooperative learning and lecture method
D) Teacher centered method like lecture method and group activity

27) Gge 9913 60 2018 2I¢ AL AUSE A8E 9RAIER 2raged @ag | F9Age a8dgde MkIQ 6990 ZRIQ ROYS 629 ?

A) 9961 980 1 gode 0ad 0d d8e 6e26 0ad

B) Q26gis 886 19 69191 Qidiaeia ad aaidh 6226 089
C) aesaisn 884 e eqel aad ad dsidi cade aed

D) 996! 988 1o 69191 QIdIRRIa 08 8a@ 6ede a8l
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28) Which of the following is the best example of transfer of learning to life situations?

A. Seema counts the stairs on her staircase while going up and down.

B. Biju takes only a ten rupee coin from his father's pocket out of 20 coins and puts it back after
playing heads and tails.

C. Leena lines her cupboard with newspaper.

D. Sanu reads about water conservation and closes every tap.

A) B
B) A
C)D
D)C

28) 36918 MUQ 6096 JAIQ 1ee 98Je6a 08Ee AR A6RIEN QILad 6T ?

4. QA QAR I 9RQ JRIE6R OIe AF6q AT 94RI @3 |

€D)

. 92 J0IG a6@eQ 90 OFIQ 629 @4 6T gl 690 62¢ IS 667 660 A6 121 Qdaca eddu3 |

Q)

. AR QIF ARAANER QG‘QQIGIQ@ USER Q3 |

D)

. AIg 99 TAVE FACQ ALT IS Y6SUR SHIAY 92 R |

»*Techofworld.In

C)@
D) @

29) The Secondary Education Commission of 1952-1953 is also called

A) Kothari Commission

B) Mudaliar Commission

C) National Knowledge Commission
D) Program of Action
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29) R '8 9-R ¢ 8NQ ARIKIR I AT 92 FIAEQ & FEUGQ

A) 61011 2lI6eIa
B) qeidaiq 2ieaia
C) Q1919 8IQ 2169
D) QINIQae QIIQE

30) A teacher prefers to teach students by eliciting responses to the questions related to the text.
Which of the following techniques she may be using?

A) Team teaching and inquiry

B) Co-teaching and inquiry TeChOfWO rld . I n

C) Questioning and inquiry
D) Questioning and team teaching

30) @66 23I0% Q10 A2 AR G9IFTRQ REAQFQ RIEQI A6R BIEVIQINIRG AT 6QQIQ AR FO3 | FYAYE AVGIF MRIQ 6Q 64T
AR FQARIRS ?

A) 9960 881 16 2RA0IP

B) Q2-84IQiR 1e* 2QQRIR

C) gq 90QI ve zgaeie

D) gq @< ue* a9ee dai0ie
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) ¥R 94 A8 28 gRI9 K6R I K'E QRIAN?

A) 48
B) Qiay
C) aa
D) a&

32) ‘qug’ zdieq Q1ege ‘0d’ @aQd aRIGE 1 4R QI8 |

A) aqanag
B) adug
C) 96aa
D) aqIg

33) @6l AQAIEA RIZIQ AU B8 IPREQ TALRR 6212 ?

»* Techofworld.In

C) Gad
D) Qi@

34) ‘zgsan’ aea FAVISICIRIS a0 918 |

A) 9e6qiq
B) @eaiql
C) Q6i0
D) @sqia

35) ‘QQ’ 9044 6696Q 2IQ 6AE 8Q 00 621NN, SITIQ @' GRIAN?
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A) aqiq
B) qee
C) o&e
D) af e

36) @691 AUIQ 60LG IR 609 9Q?

A) 6091
B) dogl
C) aisq
D) g&ia

37) ‘9Q’ 1@ ML RAIAIRIYR RAATYS 995 QI8 |

A) 2a9i@

2= 1 €Chofworld.In

C) 29Qia
D) zieae

38) ‘arge’ 9Fa 2d Fqua ea |

A) 99 48
B) gfe

C) uerae a9
D) 99

39) ‘Gaq QI8 QeI 9P 2d FQ0E @ |

A) 9966206 624

B) GReI18Q!

C) Q6q Agea atee ede!
D) 60q oI @49l
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40) QERIOR F6ETQ P& FT6M @6 QI ?

A) am gé

B) ae qe&

C) @e9 am 6 AR g4
D) Gcaa Qe

41) ‘Geo8a’ 400 AQIVILCIRIS a0 9ig |

A) 26080
B) @624
C) @gaias
D) eg&Fe

42) ‘2R’ 406 39 900 621087

vaases Tachofworld.In

B) aiqy+e-21
C) ai+q-@
D) zigq+e+2

43) ‘ayeie’ 2d6a ‘QIa’ goia 6aI6a 906 dvg QIR |

A) 991918
B) sdlaaia
C) sfaia
D) ediia

44) RUIQQQ 6897 ALY Q4 QI Q¢ ANTQ @'4 QRIAN?

—

A) Ged

B) aig

C) QoI F0d
D) qiee
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45) ‘cQlen’ 40 QIR IR QIR |

s 1echofworld.In

C) aeeal
D) @4
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) What value of x satisfies the equation 3x - 1 = 5?

A) -4
B) -2
c)2
D) 4

46) x @ 609 A1IRG 3xX - 1 = 5 aneaag A0 @dia?

A) -4
B) -2
C)2
D) 4

47) If a chord of length 12 cm is drawn inside a cirlce of area 100 1 sq. cm, then what is the distance
of the chord from the center of the circle?

g;:cm Techofworld.In

cm
C)10cm
D)12cm

47) 2@ 100 17 adl 6af 68gae 988 @ Q060 12 6ad 388 9@ QI 2rer @AIAN, 6069 YAA FINITIQR NI YA 6RES
69Q?

A) 6 sad
B) 8 saf
C) 10 6ad
D) 12 sad

48) What is the length of the longest scale that can be used to measure exactly the following lengths?

The lengths are: 10 ft, 12 ft 9 inches, 16ft 6 inches and 21 ft 3 inches
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A) 1 ft

B) 3 inches

C) 1ft 3inches
D) 9 inches

48) aQ0IQ ARl 63ARA 6T 6260 629 QIR FAYE 63y A QI IIRE 621G ?
63dgee 62ad: 10 e, 12 qe 9 e, 16 e 6 ore e 21 ge 3 ere

A) 14q¢
B) 3 ere
C)1gemnere
D) 9ere

49) A man buys an item for ¥ 2,500 and sells it at a loss of 20%. What is the selling price of that
item?

aez0 1 €ChOfWoOrld.In

C) % 2,200
D) % 2,300

49) eca @43 T 2,500 60 ve 7 868 e v2ig 20% S06a 38 @05 | 622 §7a0a §ea 9 6RE6Q ?

A) 1,000
B) % 2,000
C) % 2,200
D) % 2,300

50) The pair of equations x+y=14andx-y=4is

A) Inconsistent

B) Consistent

C) Has three solutions

D) Has infinitely many solutions
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50) X +y = 14 9e* X - Y = 4 Q01eQ€Q 6018 6208

A) 2eae

B) a@e

C) 96116 anrIie 28

D) 29191 QIREA 2A6R@ AR 2B

51) 2 parallel chords of length 10 cm and 20 cm are drawn on either side of the centre of a circle of
radius 13 cm. What is the distance between the two chords?

A) 20.3 cm
B) 23.4 cm
C) 28.6 cm
D) 19.6 cm

51) 634 10 6Qf e 20 6adl /8 26 anisale 24l 13 6af MIAIS 789 Q00 622320 60 6F16Q 6aIT QIR 2TE 62108 | 908
Sl ARUER QO 6R66 ?

vxs= Techofworld.In
C) 28.6 sad
D) 19.6 sad

52) There are 3 bells A, B and C which are ringing at an interval of 3 minutes, 4 minutes and 6

minutes respectively.If all them ring together at 2 p.m., then when will they ring together the next
time?

A) 2:12 p.m.
B) 2: 24 p.m.

C) 2: 36 p.m.
D) 2:48 p.m.

52) A, B 9 C, 3 ¢ or¢ a8 qiel ga1geq M 8f¢, 4 8¢ e 6 8¢ QeuIfea QIgd | 98 Q9 IRI2Q6R ATAIQ 2 ¢ ANAER
QIRS, 6069 UARG! 6Q4 ANAEA 6AAIER IRQ ARER ?

A) 2:12 p.m.
B) 2: 24 p.m.
C)2:36 p.m.
D) 2:48 p.m.
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53) What is the difference between the simple interest and the compound interest earned on 6,000
for 2 years at 8% per annum [Note: compounding is done annually]

A)Z 384
B) 2 39.8
C)% 49.4
D)% 59.3

53) ¥ 6,000 aasa ife 8% Qu 21e6a 2 od aIsf 209 Qi 6 9QLE QA A6 AId 6966 629 ? [ gorl : JOQY 0gQERRE
QIR |

A) % 38.4
B) ¥ 39.8
C)%49.4
D)% 59.3

54) A mixture contains milk and water in the ratio 5: 6. If 2 litres of water is added, the ratio of milk
and water in the solution becomes 5:7. What is the quantity of milk present in the solution?

A) 10 litres

B) 12 litres TeChOfWOrId . I n

C) 14 litres
D) 16 litres

54) e dge6a 5 : 6 2901060 81 9 9@ 28 | 9@ 2 A 2@ AdIAN, 6062 fgasa S1a 1 99Q AQAIS 5 : 7 621QaIM | 6069
fgaea Q10Q A8 6260 ?

A) 10 aga
B) 12 aca
C) 14 aea
D) 16 Gea

55) Identify the unequal sets from the following

A) {x:xis a letter in the word 'GOD'} and {x:x is a letter in the word 'DOG'}
B) {x:xis a letter in the word 'EAT'} and {x:x is a letter in the word 'ATE"}
C) {x:xis aletter in the word 'LOGQ'} and {x:x is a letter in the word 'GOLD'}
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D) {x:xis a letter in the word 'ALLOY'} and {x: x is a letter in the word 'LOYAL'}

55) fameQ Fiklq ziaqie 6QE 9@ 5g¢ eaq

A) {x:x 62a8 'GOD' aea @ 28} ve* {X: X 62a8 'DOG' gea e z9a }
B) {x:x ¢2a@ 'EAT' aea 1@ 280} v {X:x s2ed 'ATE' aea 9o 2g8a }
C) {x:x s2ed 'LOGO' aea e 280} ¥e* {X:X ¢2ad 'GOLD' aca e 28}

D) {x:x s2a@ 'ALLOY" ¢ra e ag8a} v {x:x ¢2a8 'LOYAL' aea e 280 }

56) Which is the smallest number that should be subtracted from 10,000 so that the remainder
becomes a perfect square?

A) 1

B) 144

C) 169

D) 199

56) 1@ raug@@ auq agoig 6816 @euS sedd I 10,000 @ dsaia RAITER, SlRIR QIgcas e Tgd o6 629 7

s T echofworld.In

C) 169
D) 199

57) What is the ratio in which the point (2,3) internally divides the line joining the points (-1,3) and
(9,3)?

A) 1:2

B) 2:3

C) 35

D) 3:7

57) eed 2gai06a a9 (2,3) zinyesia aiesa @9 (-1,3) ver (9,3) 62 6a18 QIR 60dIQ FOS F6Q ?
A) 1:2

B) 2:3
C)35
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D) 3:7

58) In a mixture of 65 litres, the ratio of colour gel to water is 11:2. What is the quantity of water that
must be added to this mixture so as to make the ratio of colour gel to water 11:13?

A) 35 litres
B) 40 litres
C) 45 litres
D) 55 litres

58) 65 dea figaca, @aa 6800 89 a20 2gale 11 : 2 26| 00 60 8 29a 290 11:13 Qda! aId 6266 GO0 8@ 1@
Agasca AGIGQI 2IQaYR ?

A) 35 Qee

B) 40 dea

C) 45 Qe

D) 55 @ea

59) If X and Y are two sets such that n(X) =12, n(X-Y) =5 and n(X U Y) = 23, then the total number
of subsets of X N Y is

v Techofworld.In

C) 64
D) 32

59) 2@ X wer Y @@t 649 26s 6aad n(X) = 12, n(X-Y) =59 n(X U Y) = 23, se6e X N Y 20690950 a9ia
el 6208

A) 256
B) 128
C) 64
D) 32

60) A number's square as well as square root both are perfect squares. Which among these can be
the number?

A) 4
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B) 16
C) 64
D) 100

60) 9@ THia 96 I edOR A0A RAYS O 26E |9y AQ 6AT THIT 60ud ACT ?

v+ Techofworld.In

C) 64
D) 100
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) An Anemometer is an instrument that is used to measure

A) Relative Humidity of air
B) Speed of the wind

C) Amount of rainfall

D) Atmospheric pressure

61) e 2FEAINH 6208 1@ 98 ARl IRIQ NG Al MRS 29

A) 9198 2IEORR IO
B) 99%a 6@

C) edia adele

D) QIgneaa aa

62) The study of Earth's atmosphere is generally known as

A) Aerology

s a0y | €CHOfWOrld.INn
C) Meteorology
D) Geology

62) Q1A QIGIENQ 2UARYQ ARSI QRIAIN

A) QIg aRie

B) 624158 4IQ
C) aidaia agie
D) @ Qi@

63) The terminology 'Preamble' means ?

A) The head of a body of a country
B) Suffix of a book giving the values written for the states
C) The most portion of anything guiding the values of the law
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D) Preface to the constitution which states the reasons and guiding values of the Constitution

63) ae ‘Glna’a 28

A) 99 6260 TQIa e

B) QIigee QIR 6RHIQINAR FRY 9RIF *Q2Rl IR 9e9a AT
C) ara gaisaIg AIdede @RI 6FI6Q FRAQ AYRPA 2P
D) QAuIRe 20gAdel A1l AAUNE FINE 1 AIdedRI @4

64) The modern city of Agra was founded by

A) Malik Sultan Shah Lodi
B) Sikandar Lodi

C) Bahlul Lodi

D) Ibrahim Lodi

64) ARIFR 2G| ALQ I2IS° FIQI OIS 62IRYR

o werans? Tachofworld.In

C) qieqm 6RIG
D) agi@q eni@

65) Stone cancer is caused by which of the following options?

A) Ultra Violet Rays
B) X-Rays

C) Acid rain

D) Ozone depletion

65) 39Rye FRegFe AUQ 64T QIAI 6]IR MIRAR 62N ?

A) 26 QIRad1 o
B) 99-6

C) ze, gl

D) 66917 84
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66) Read the following statements and choose the CORRECT option.
(i) Fold mountains are often associated with oceanic crust.

(i) Fold mountains are created at convergent plate boundaries called as oceanic collision zones or
compression zones.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (i) is FALSE

66) Q6918 FRQEGPQ LT 9Q° OR Ta8 09R *9g |
(i) 6TIR, AGEYRR Y68 ARAATAID POR AZG K0S |

(ii) 6TIR AGEYRR IREE 69K ANER Y] 9 ALY ARIATR AR 691] Y| AEKIFR 6RI] GRAAN |

Moesee i wizw Tashofworld.In

B) (i) Qo4 2166 9Q° (i) 2aey 26e
C) (i) 2aey &6e 9" (i) ASY 26e
D) (i) 2QeY 265 9e° (i) AAMY 26T

67) The provisions in the Fifth and Sixth Schedule in the Constitution of India are to

A) protect the interests of the scheduled tribes
B) determine the boundaries between states
C) protect the interests of all border states

D) determine the powers authority and reponsibilities of panchayats

67) AQEQ QAURER POF Ie° FF UYYRER Q2L QISR 6208

A) 22956 92RI6a Qd osl @&l
B) QIeigee Auea aiql a0 *dQl
C) 2913 QIFlI3 QIIgeaa g o8l K4S
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D) creiaeqeq 8a6! QRIS Ie° QIAQ fda edal

68) Who can remove the President of India from office?

A) Supreme Court judges

B) Rajya Sabha members

C) Either houses of the Parliament
D) Cannot be impeached

68) a4 aIeee QIgadg AQQ 26IRaIfes ?

A) gdreqicq daeadeies
B) qigyaaia Q@iniee
C) T290 090 §2

D) feifeala ReIaIQaide QIF

69) The network of intersecting lines of latitude and longitude is known as

sreas Techofworld.In

C) Perpendicular
D) Meridian

69) zara e QdAIQ F6R2 AQERI 6RHIGFRN 6RCEIR Y2 AR FAIFEI

A) QaQee 64l
B) 9eeia

C) ugafia

D) aride easl

70) Who was known as Frontier Gandhi?

A) Shaukat Ali

B) Mohammed Ali Jinnah
C) Abdul Gaffar Khan

D) Mahatma Gandhi
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70) oréaa cI91 QI6Q @9 REIGEI ?

A) 6396 2@
B) agae 2@ Gal
C) 299 9aQ &R

D) aiq qie1

71) Read the following statements and choose the CORRECT option.

(i) The king Ashoka's religion, Dhamma involved worshiping of a God or Goddesses along with
religious rituals.

(i) The officials who were appointed by the king Ashoka to spread the message of his Dhamma were
called as “Dhamma Mahamattas”.

A) (i) is TRUE and (ii) is TRUE

B) (i) is TRUE and (ii) is FALSE TeCh OfWO rl d . I n
C) (i) is FALSE and (ii) is TRUE

D) (i) is FALSE and (i) is FALSE

71) G618 QQQIIgEq 99g ¥e° 0] 998 948 @ag |
(i) QIR 68IRIE A, AN AFR QRS ARG I@ VIIIE BY 6291g IeI FA9 A26 90 Y |

(ii) SIF QA QRN IR FARIQ VIR ACAIRST FIA FYS AYRIQIARF “AUIA ARIAY” QRIAIKAR! |

A) (i) Q84 2166 9Q° (i) AN 269
B) (i) Qo4 2169 99 (ii) 2Q%Y 26T
C) (i) 2aey 266 9a° (i) ASY 26T
D) (i) 21964 2166 1< (i) 2A4 26T

72) Oceanic Atolls are found in

A) Gulf of Mannar

B) Gulf of Kutch

C) Lakshadweep

D) Andaman and Nicobar
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A7 AR RAR NIRRT

ANV avaw

72) aiaeeia geie 1agée 1oiea adald

A) 9% 22 A9

B) 619 22 @

C) iiaia

D) 2I9IAIe 96 G610

73) Which of the following is correct about Prorogation?

A) Termination of a sitting and a session of the House
B) Termination by the presiding officer of the House
C) Termination done by the President of India

D) Termination is done only when the the Chief Justice of India approves

73) gdorad daa6a 9Rge NuQ 6@AG A0 26% ?

A) 929 630 & BAERERR AIG T h f | d I
B) 926 2U8S QoI ARG e C O WO I ‘ n
C) Ieea aIgade QeI anig

D) 6K60696R N UK AGAAE APEANYR FQS 6ACEERER AAIF *AUAIRAN

74) International Date Line (IDL) does NOT coincide everywhere with 180° Meridian but makes slight

deviations from it. Select the Correct reason for this statement.

A)

The International Date Line (IDL) divides the Pacific Ocean into two equal halves

B) The International Date Line (IDL) does not divide the Bering Strait

C) A group of Islands belonging to the same Government should have the same date, if 180°
Meridian passes through them

D)

Meridian passes through them

A group of Islands belonging to the different Government should have the same date, if 120°

74) 2ssie1a 0184 casl (AQEIR) o o° QIdal ade ade Anea 24 AIF 8g 1aQ ANIRY §6Ye 241 9@ YQQE aidl A0 Ied Cae

@eq |

A) BFIOND I8¢ 6a¢l (AREIR) 918 AAACRR T AR NGEA IS FEQ
B) A0 018 6asll (UAEIR) 60T UQER NG R6Q AP

C) afIe 2eRIes AI1e QIAYER IR AAIR CIAH a2 2IRER, A3 e o° QT 6QAAIRS Rl 62QAIRAIN
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D) &g Q0Qies 99916 QIAgaQ 9 QAL CI8d Q29! ZIQEYR, 98 ¢ 90° QIFA 6ATIRET A 69QAIN2INM

75) In which year did Jammu and Kashmir became an integral part of India?

A) 26th October 1948
B) 26th November 1948
C) 26th October 1947
D) 26th January 1947

75) 6@ @d 919 9Q° QIR QO IR AFERM AT 6ARARA! ?

A) 99 B6RI9Q € BT T h f Id I

B) 95 @caq@ e cyr eC O Or < n
C) 99 26QIaQ € ¥

D) 99 9IguIG! ¢ C¥9
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Section 8 - Paperll-Science

No. of Questions: 15

76) Name the gas and the test which can be used to identify the gas evolved in the reaction between
Pb3O4 and HCI.

A) Oz and turns moist starch iodide paper blue black

B) Cl2 and turns alkaline pyrogallol solution dark brown
C) Hz and burns with a pop sound

D) Clz2 and turns moist starch iodide paper blue black

76) quia ver aqigee @ia dag aiel Pba04 ver HCI arica goGaisa 3ede 6210291 a4id §9¢ Q89160 24990 6210aIeR |

A) O2 e 21 9I6 2ICAIRINEG RIIR V1P @R 68 AGES 24

B) Cl2 ue* sicia eqician QAL SIS QI ae6a adae 24
C) Hz wer 9@ aa 7 ado eFan

D) Cl2 ve* 21d 9I6 21621010¢ QI9S F19 @9 68 A8€e 29

77) Which types of Bravias lattices are possible for cubic structures in solids?

A) Body centred and face-centered only

B) Simple, body centred and face-centered only TeCh OfWO rl d B l n

C) Simple, body centred, end-centered and face-centered only
D) Simple and face-centered only

77) @0R6a Qie 98 60% aldl 604 gelaa 6969 MG e ?

A) 6997 4010 QR0 I QU-6aR0

B) 609 A6R, 4010 6046 I&* QH-6@80

C) 6999 26, 8910 680, 668-60E0 1" Qu-6aE0
D) 629% Q0R 99 Q¥-6920

78) The Sl unit of momentum is

A) kg ms
B) kg m/s
C)kgm
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D) kg/m

78) Q°6Q9Q S| 9@ 6298

A) kg ms
B) kg m/s
C)kgm
D) kg/m

79) Blue-green algae is also called as Cyanobacteria and is a large group of organisms.

A) Prokaryotic
B) Fungi

C) Bryophytes
D) Protista

79) a1e-age 68QIRg dzicrIeusqdel N QRIAN e 12l

Do Techofworld.In

C) eleaiaq
D) sgieal

1PAIPSR 92 920 69191 |

80) In Xerophytes, which one of the following is an example of non-succulent perennials?
A) Opuntia

B) Agave

C) Aloe

D) Casuariana

80) ﬂ@@@%‘e, FRYO MRIQ 6946 6208 AAD-3219 QAR AULQE ?

A) 28l
B) 2i016@
C) gsmi
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D) qigaiaq

81) Which among the following reaction will result in the formation of gammexane (an insecticide)?

A) Benzene with chlorine in absence of sunlight
B) Benzene with HCI under heating

C) Benzene with HCI in presence of catalyst

D) Benzene with chlorine in presence of sunlight

81) 56919 g6&al AuQ 60dE AYICFIEFR (1@ A1ERIER)T0NR IR AQEIC 629 2

A) qélv Ga6a 203060 GRUAIRR ATE 6A6ER Te C h OfWO rl d ' N

B) can seel anaeca \9Q Q 2R ade corees
C) zgaeeiars aagdsa 1Q J IR ade canses

D) gdiGaan aagdsa 6QARNR ARG 6996

82) What conclusion can be drawn for a gas whose Z value (compressibility factor) is greater than
1?

A)
B)
C)
D)

The real gas is more compressible than ideal gas and shows positive deviation
The real gas is less compressible than ideal gas and shows negative deviation

The real gas is more compressible than ideal gas and shows negative deviation
The real gas is less compressible than ideal gas and shows positive deviation

82) e quia IRl 6a4 ARS8 AFIAIRAIGe ARR Z @ FIR (Q6S1ee 1I0R) 1 Q 2@ 621RaN ?

A) S2Q GHIA RGAR GHIA TR LR ATIFRA I AR TS 624N
B) QUM MIA AIRBUAR QIQA ACAV RF1 AEFISR1G Ie° FRAAUAR ISYS 64N
C) QUM A QBN MYIQA ACARV 2R ACKIOR1A IS FRIAUAR TS 6N
D) Gua UIQ ARTAR GHIA ACAR VN AFIOR1A IS ARAIAR TGS 624N

83) What is the accleration produced by a Force of 16 N exerted on a object of a Mass 2 kg?
A) 6 m/s?

B) 8 m/s?
C) 4 m/s?

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World

Whatsapp/Call- 8596976190
Set Id : 62270_8

BATCH3_D.ELEd.Odia_07NOV2020

D) 2 m/s?

83) 2 kg BRRQ 9@ Qg QUEQ J6QId 62IRgQ 16 N @R FIQl Qga 62921 Qe 6262 26T ?

A) 6 m/s?
B) 8 m/s?
C) 4 m/s?
D) 2 m/s?

84) How many RNA polymerases are there in a eukarotic nucleus?

A) four
B) one
C) three
D) two

84) 1@ RARICAITR PIRAAsa 626016 2IQ IQ 1 ANEACAR 624 ?

Dw Techofworld.In
C) 8¢
D) 26§

85) Which among the following cell organelle contains enzymes necessary for total oxidation of food
and for the release of large amount of energy in the form of ATP molecules?

A) Ribosome

B) Nucleus

C) Mitochondria

D) Lysosomes

85) @9Rgo 62 AGIEAN FRIQ 6RAT HINMQ AR AFERAR Ie* IFTA UG AURIAER 9 AGANFR 43 99 AL URMR IRRIQA QS
Q6Q ?

A) QARECVUERIF
B) qv@
C) gg @da
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86) Tap roots are modified in some plants for storing reserve food materials. The conical type of
modified tap root is found in

A) Beet root

B) Turnip

C) Radish

D) Carrot

86) @8 2Gea AR AR HINY AAFIR 986 RAR AN VARG FRIAINAN | AFES ARRa seiFein
gela gea fRad

A) Geqe
B) aimeiq]

C)
D) sieq

87) Which among the following is the ratio of Na* and CI- ions in the unit cell of NaCl solid?
A) (5:5)

sea | echofworld.In

C) (4:4)
D) (6:6)

87) dqRge aug 6aae 62ad NaCl A9a wee easa Na* e Cl 2199 ¢ 2gai6 ?

A) (5:5)
B) (3:3)
C) (4:4)
D) (6:6)

88) A car with mass of 175 kg is moving on horizontal road with 30 m/s velocity. If the car is
accelerated by 5 m/s?, then kinetic energy of car after 12 sec will be.

A) 708750 J
B) 897570 J
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C) 875000 J
D) 578070 J

88) 175 Qg Bae 89 6915 QIR 30 M/s IAELTER YR IGRAR QUAIEA AIRE | AT QIQ T 5 m/s? FIal R4S
62IRT, 6069 12 6A6Q4E U6Q AR Q IFF 93 660 622 ?

A) 708750 J
B) 897570 J
C) 875000 J
D) 578070 J

89) Human Immunodeficiency Virus causes aids by attacking a type of white blood cell called

neee Techofworld.In

C) CD8+
D) CD2+

89) 2 640 69 2RI AT6A 2AE @8, AR TR REOIE) QA RIQE T2

A) QGv+
B) GGm+
C) @er+
D) Q@9+

90) Which of the following is NOT a function of the Plasma membrane?

A) Protection

B) Cell signaling

C) Cellular respiration
D) Endocytosis

90) F9Age MIQ 624G YR 677 RIdY Q62 ?
A) Qe
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B) 629 dani TeCh OfWO rld . I N

C) 638 gae
D) 2188 6Q1899!
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| Question Paper No: | 62270_8

| Answer Key:
Techofworld.In
1D 31|{D 61 | B
2|B 32(D 62 |C
3 | 33|B 63| D
4|C 34 A 64 | B
5|/B 35|B 65| C
6B 36 | C 66 | D
71A 37 | 67 | A
8|D 38|C 68 | C
9B 39|C 69 | B
10 | D 40| C 70 | C
11 |B 41 | C 71 | C
12| D 42 | A 12 | €
13| D 43| C 73 | A
14 | B 4| C 74 | C
1D |1€ 45| A 75| C
16 | C 46 | C 76 | D
17 | C 47 | B 77 | B
18 | B 48 | B 78 | B
19 | C 49 | B 791 A
20| A 50| B 80 | D
21 | C S1|A 81| D
22 |C 52| A 82| D
23 | € 53|A 83| B
24 |B 54 A 84 | C
25 |C 35| € 8 | C
26 | D 56 | D 86 | D
27 |B 57(D 87 | C
28 | C 58(D 88 | A
29 |B 59| B 89 | A
30| C 60 | B 9 | C
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